Linear Equations

| Solve for real numbers.

1) 8(3z —5) — 5(2x — 8) = 20 + 4x;
2) z — 4|z — 2(z + 6)] = 5z + 3;

3) (8—3z)2+(5—4z)% -6 = (9 — 5z)? + 20z — 4;

4) 3(z+1)2 + (z — 4)3 = 101 + (z — 3)3;

2 Solve over the given sets.
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1) —1; 2) 3; 8) ~15; 4) §; 5) R\ {0,-1}; 6) 6; 7) 8; 8) —4;
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In Exercises 5-16, solve for the indicated variable.

5. Area of a Triangle
Solve for h: A = %bh h = %

7. Volume of a Rectangular Prism
Solve for L: V = LWH L = WV-

H

9. Markup p 10.
Solve for C: S = C + 1C € = 7

11. Investment at Simple Interest 12.
Solve forr: A = P + Prtr = A—;I—P

13. Area of a Trapezoid  14.
Solve for by: A = %h(b1 + by b = lh/i —h

15. Last Term of an Arithmetic Sequence @ 16.

Solveforn:L=a+ (n— 1)dn= L:ja+1

17. Depth of a Water Trough A water
trough in the shape of a rectangular prism
is 12 feet long and 3 feet wide. The
trough has 9.4 cubic feet of water. How
deep is the water in the trough?

18.

. Perimeter of a Rectangle

Solve for L: P = 2L + oW L = P=2W

2
. Volume of a Circular Cylinder
Solve for h: V = mr*h h = L
w2

Discount
Solvefor L: S =L —rL L = %
Investment at Compound Interest |

. iR t g
Solve for P: A = P(1 + 1)' P = (T
Sum of a Geometric Sequence

e rhiela oG
Solve for.r: § = —PFmgrT
Conversion r’roms-':’ahrem"mf to Celsius
Solve for F: C = 3(F — 32

e for 5 ( : ) F= §C+ 2

Height of a Circular Cylinder  The vol-
ume of a circular cylinder is 48w cubic
centimeters. The radius of the cylinder is
2 centimeters. What is the height of the
cylinder?
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19. Sqlids Match the formulas to the solids. Then solve for the indicated variable.
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a. Sphere b. Pyramid c. Cone
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21.  Area of a circular ring: © 22. Surface area of a cylin- © 23. Perimeter of a pond:

A = 2mpw. Solve for p.
Find p given A = 22 cm?
and w = 2 cm.

der: § = 2arrh + 2712,
Solve for h. Find h given
$=105in.? and r = 3 in.

P = 2or + 2x. Solve
for r. Find r if P = 75 ft
and x = 20 ft.

r=f=2 561
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